feuat-B St A
Oote: 2817/28

Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?
ARE g2l v g2l ugl Ul sal usizel Qs Yoi(UR HIZ Ut Hiscll

Asl olell?

A) Appropriation Bill --ejHlE ot (At

B) Ordinary bill --4lHlel (@&t

C) Constitutional Amendment Bill--6{tuRe(l2L Qjﬂl?l [@et
D) Money Bill - slt@l et

Which Commission was set up to review Centre-State relations in India?
ARcloll os-A%2 Aoitlell wllal sal 1R 58 wWlotell Ul scUHl wiLcll scll?

Options:
A) Sarkaria Commission-—-ﬂ?&l@ AL AL

B) Punchhi Commission —-Yo={l L2021
C) Mandal Commission-—-HS& lLA0L

D) Kelkar Commission—--$E 52 BURLOL

What does the Preamble of the Indian Constitution signify?
el olarelell Yrdlaotl g el 82

A) Division of powers between centre and states—- 0% Vol A0 (A %{ﬂwﬂ{i
[Qetoset

B) Powers of the President—-?lb;f}u[avﬂ Ut

C) The goals and aspirations of the people of India-GURcloll %eolcilell G180 Vlal
dLsiaill

D) Guidelines for foreign policy--[aéﬁl EGRITEET Holeslst

How many categories of Fundamental Rights are outlined in the Indian Constitution?

Rl oltRgHl Hoeyet @B sR Jecll Al alcicuni vicll &2
A) Five-—-ui

B) Six-—-89

C) Seven--—-lcl

D) Eight—l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%l ofllAott s RgiA, l-LﬂlGj\d U@ s Quild, sl gzl el =R

o) 531 aAsdl olell?

A) They are guidelines, not legally binding--
A Hleds oflQu 8, stojell A cueastd otell

B) They are outdated principles-—-cl %ol Rgicl B

C) They apply only to states, not the Union—
A 85c A% Ald] U B, Yonal o8l

D) They require parliamentary approval--al el 15{‘2('& °b’3'ﬂ )
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Who administers the oath of office to the President of India?
AlRelell AgUlda UE sl scllofl U Blol Wwd B?

A) Vice President-—- GU 21 uld
B) Prime Minister--- c{St Utllel
C) Chief Justice of India-— Gllcloll Yual U203l

'D) Speaker of Lok Sabha--Gllsellell wlt2lal

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

Al ol YuRl QRS 2% scll UBEL 132 ABY w2 ofolcdH AHAMNA
Becll 8l AgA?

A) One week - A§ s3]

B) Two weeks - 6L uscl(S2lL

C) One month - W§ H(@Al

D) No notice required - & all2ell %32 ol8l]
How is the Vice President of India elected?

ARclotl GuRgUel 2ferll 3l fla et &7

A) By the Lok Sabha only--$5ct ASUCL GlRL

B) By an electoral college of both the Houses of Parliament--{{Eall ol 015l°tl zj\ataw
AeAlell f2all Hso gL

C) By the Rajya Sabha only-—-$5cl AXUJECL gl

D) By the President---20%uld glL
Who among has the power to commute the death sentence of a convict in a State?

AU ERct el Y@Jesoll UM uatscloll Al Aol WA B2
A) Ministry of Law and Justice-—St2LEL Blol o2 HoUE2L

B) The Chief Minister---u13{{|

C) The Governor---A%ULA

D) The Chief Justice-—-4u( c2l21({l2L

‘Which constitutional body is responsible for auditing government expenditure?

ClReloll 88 HAUMS e Ut WAloll usiugll s2a Amgs 2l B2

A) Comptroller and Auditor General of India (CAG)-—- (U2 clell QUL A WR22 %ol2c
(CAG)

B) Finance Commission——-dellﬂEl s[Matet

C) Union Public Service Commission---g[;lald Uleds Al sMstet

D) Election Commission of India——-Z'LaQaUll?ﬂDl
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Which organization became the first Indian NGO to win the 2025 Magsaysay Award?
202501l RRAA YR51R otz YU etdlal @ot-u25(3) el (NGO) §¢5 &7

A) Pratham -- yay

B) Educate Girls —  A%eJ}2 dlcl

C) Smile Foundation --- ¥ A $God 2lol
D) Teach For India-- &l 83 Sa

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257

28 Ao, 20258l A3 Actl A ol stdsIA HE IMEolL ARyl Brse L1}
8lol [A3ysel sl il B?
A) Arvind Subramanian - AR(dg YU HRH

B) Raghuram Rajan - RYAH A%l
C) Shaktikanta Das -  U5isicl &1
D) Urjit Patel - ¥ wda

What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
Basial Maet 1R @QsaucatHi 20Ae elrdell yam dydl 2akell 32-0l2

HIBSURAURe] ol g B?

A) Bharat-Chip X — ellRd-RU x

B) Shakti-2100 - 9(5-2100

C) Vikram-3201 - [A$1-3201

D) Aryabhata-2001 - (2l¢Lg-2001

Who fs the owner of Google?
oletell Hil@s slat B2

A) Sundar Pichhai - €3 Q¢S
B) Alphabet Inc - WEHLA2 Sos
C) Elon Musk --- Acllol Hs

D) Mark Zuckerberg - HU§ 23520451

Who developed and manages the Unified Payments Interface (UPI) in India?
Rl YlAgies Ao o223 (UPI) SO (QAsice] A Aot 53 D7

A) National Payments Corporation of India - a\2lelc{ Qﬂa@%l slulRatet ULS Sl
B) Reserve Bank of India --- R2d &ls Ag S

C) State Bank of India - ¥22 o5 3§ Sldau

D) Phone Pe - §loi Q
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Who has been elected as the 15th Vice President of india?
GRetell 155 GURZUA A3y Sl Yecuni wuica B2

A) Jagdeep Dhankhar --- %9LElU talws
B) Justice Sudershan Reddy --- clauella ofl, 2:162101 ER
C) Venkaiah Naidu - c3ll oll2AS

D) CP Radhakrishnan — (L. UL, AtugWlet

In which city was the SCO meeting held?
sco {l@at sau adui s scll?

A) Tianjin - (QULeA([Rat
B) Beijing - Q&1

C) Shanghai --- 2llellA
D) Astana --- Wcllail

What was the name of the mission that carried Shubhanshu Shukla to the International
Space Station in 2025?

202541 Yoy Ysellal AicRAN 3icRat Has (1ss) yll e a3l ®slote] ol
9 &q?

A) Gaganyaan --- JlJle{lat

B) Chandrayaan-3 --- 2is2llel-3

Q) Axibm Mission 4 — A(SAH R alet ¥

D) Artemis | - BUSRAY |

What is the full form of MOM in the context of India’s space program?
CURctell A5l selsHoll deelul MoM of ydl a3y g &2

A) Martian Orbital Mission --- HU2l2let w2t Lot
B) Mars Observation Mission - H13] 30o03alet R3let
C) Moon Orbiter Mission - 3ot 322 (atet

D) Mars Orbiter Mission --- HIR] 222 Matel

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 oll 52 E(R2lot Yhotiell el cuctel W U3 sAde Ratote] otin 9
&d?

A) Operation Vande Bharat —-- 3U29lol ¢t el

B) Operation Maitri -— v{lM9lel H{l

C) Operation Ganga --- }{U39le{ o{oU

D) Operation Devi Shakti - 20 U23let £ ¢l 2GR
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Al 510N Eoalet
oflA WAA 553 clilla) Well o2t el YiesI)
RALRAGR Yrall

ool (SRB2et Youul oz Yraw s QAN Hsrcol YA oefl 212 B, o 2024
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ReAHAR Ul (BRloL Bl gHetlloll AHLALL A B, dfxAcl Bell A%, 2U[ olloll
vlel He2l GEWN (SMEs) Ay 2etéutiatoll Rivall ossusll atll 28 B, i wic
gHetle] luH ay Rldosets B. Gelsl dl3, 202¥Ml wnelcEo] Ws
goellloRact 250l SUlll 2euHAR EHAM @dlel u 535 32le] oot
el 539 USY &), [lgUellotl Ha, el gHARD 2o Yual 51201 oleloll A2le
YRello] HI] ual 219)[QAell eia B,

AL USSR tlletMl AvlAl el AR Adetet 2GR RsAB WA 2023
UHEML 8L B, BH Batell i BRect Azl o 2020 yytll YREd
Gotlclclle] AgL otssl s licd] B, ul ol 3601 6cls et B s gl
(Al ol AUUR W Aol Ascll Rreriall Guol ctiizoun vl Au o, -
QAN yAA B AR Yratoll USAAL 1A Weldol sollclrell asat ololl, uiq
oALIIREA %) A Yreuas adet ug Ao UlRle] B, Ul Sl 89 ot
wtadell GUAIL 52 B wecl UMl S Bsd Uz GAs 5 8, % ol Al Aua
URAGR YU HIZ AN Aed ool 2L B

AR gHelRAeD Yellel Hiat 255 YRAl % otell, U3 WS 1N wBls 2
U@l QIS 8. olIRAel A5 iclioll @1 el UEoI

HIRAL stz ditatenell suellaidie] Geeluiot 2zl &, Bt Q0 [ A yal
ool AHHL U3 B. Aell etlQren wacR el A Al YRalloll s 2L RLell
o3 Acttoll 32 B, w B Qe yguellsi Ao Yral (s weaslol
AL A B olloll-HEAMHoll BN Uecll A2l HH25(25 Yrew Aard yi
usell %3l B, i, AR Yall A Ut 2sallclwell ua oell, uRq WS
FAGELR] U w5 GRA ALl A AsiAct ¥a B,

AR AR GHAURA cticlioll Yual 51201 g B?
A) ol61q) URACR YRello] HOW] U 19)[QA 1L,
B) elcll RASUW UA SMEs oll :35uell a3l

C) 0clls Aot el Al 25Nl WeLLCL

D) URsRe{l olA2le] 555 wuc,
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O¥Acl Bl AFNHL URAGR §HCAlo] FluH A 3H D7
A) 8120 3 Ul et Galol B.

B) 51201 3 cl SMEs 2ol 8w oltll 8l B,

C) 5RQ ¥ Ul Soerale cuRlal | B,

D) 8120 ¥ Azs124{l ofl(q 2yl B.

Sl WSl Guaol ASlA 3cll A w2 53 93 B2
A) Aol Rzt Aol GuoL ©dl 9 B,

B) 3l AUAAR YU M2 A g ololl o3 B,

C) Anell 2500C%) Weldol tlotcliell sl af B, -

D) UR51Re{l AR Yral oQuloll uuRs25l udl o3 B,

Aalotel AR AR W@ 20231 HOed &q 9 82
A) UicRAE2 AAGR 9JAAN UsSAL

B) Al 2029 Yl i BRect Al Y@ s3],

C) oIREA otall st2uel (AR )l 534,

D) ciM Gellolla el Yrau ylAut YA wisell.

ol et Ul s AAeotell AR Yrallo] AMRS Mool UL 22 Do
A) URAGR gHARE dato] ojslel w2 B,

B) A&l Mosofdl Walatd o2l i,

C) AUAAR Y&l HIA 5ol U wUBd ool

D) eloR Blefl cAEROLA SN uellatcll Ruirin YsiaA B,

English Comprehension
Read The Passge and choose the most appropriate option
Artificial Intelligence, or Al, is a technology that allows machines to “think” and

perform tasks that normally require human intelligence. Many people already use Al

in daily life, sometimes without noticing it. For example, when you use a voice

assistant on your phone to set an alarm or ask for directions, you are using Al.
Similarly, when streaming platforms suggest movies or songs you might like, Al is

working in the background.

- While Al makes tasks easier, it can also raise some concerns. Some people worry

that machines may take away human jobs. For instance, if robots can do factory work
more quickly, companies may not need as many workers. On the other hand, Al can

also create new opportunities in areas like healthcare, education, and transportation.
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Doctors, for example, use Al to study medical pictures and find illnesses more
accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely,
it can save time, reduce mistakes, and improve lives. However, people must also learn
how to use it responsibly so that the benefits are greater than the risks.

What is Al mainly described as in the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.
c) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

c) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?
a) It makes cities louder.

b) It can take human jobs.

c) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

¢) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?
a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits depending on how it is used.
d) Al will only be used by students.
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Which of the following are the
products of homolytic fission of an
organic compound?

a) Free radicals

b) Carbocations and carbanions
¢) Neutral atoms
d) Carbenes

Which of the following is an example
of a nucleophile?

a) BFs
b) AlCls
¢) Hz0
d) NOz*

Which of the following is the correct
order of reactivity in an Sx' reaction?

a) 1°>2°>3°
b)3°>2°>1°
¢)CHs>1°>2°>3°
d) All are equal

Which type of stereochemistry is
observed in an SN2 reaction?

a) Racemization
b) Retention

¢) Mixture

d) Inversion

Which of the following catalysts is not
used in the Friedel-Crafts acylation
reaction?

a) H2SO4

b) FeCls
¢) AICL
d) BFs

31

3R

33

3%

34

sumigl 52 wnlQeusset (hemolytic fission) &l
WAl slelRls Adogotoll [(Aus B2

) Yscl YA\ (Free radicals)

o) steildatet vl siollAaiet

5) dey U.QH[QJ%U. (Neutral atoms)

s) stollot (Carbenes)

Al Acuniell 53 YEANSISE] GELERRL B?

) BFs

ol) AICI:

$) H:0

5) NO:*

s, YQBaxi yABaaledl su o{lAst
Higll s A B?

) 1°>2°>3°

o) 3°>2°>1°

§)CH3>1°>2°>3°

S) oltlt AHlel B

sw2 ulABauni sa ysize] WRABM
oflall HOL 87

) ARUBDeLet

o) SL2o2lot

5) M.

S) @[csH (Inversion)

3ct-slsed AAA et Bl ol Asu Higl
sl GclRsoll GUldL AUl otell?

W) H,S0,

o{) FeCl3

§) AICI;

s) BFs
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Which of the following is the correct
JIUPAC name of isopentane?

a) 2,2-Dimethylpropane
b) 3-Methylbutane

c¢) Pentane

d) 2-Methylbutane

Which of the following materials is
used in the Wurtz reaction?

a)Zn

b) Na metal in dry ether
¢) KOH

d) H2SOs

Which type of isomerism occurs in
alkanes mainly due to structural
variation?

a) Position isomerism

b) Functional isomerism
¢) Chain isomerism
d) Tautomerism

Which of the following is an example
of a natural alkane?
a) Ethylene

b) Acetylene
¢) Methane
d) Benzene

Which is the major product formed
during the monochlorination reaction
of methane?

a) CHsCl

b) CHClz

¢) CHCIs

d) CCls

Which of the following rule is applied
when HBr is added to asymmetrically
substituted alkenes in the presence of
peroxide?

a) Markovnikov’s rule

b) Anti-Markovnikov’s rule

¢) Hofmann’s rule

d) Resonance

3§

39

3¢

3¢

¥0

¥

ol Actiiell wBANcote] UL IUPAC ol
53 B?

) 2,2-stAR S Ret

ol) 3-Rauseioyel

§) Uoeet

s) 2-Rascoye

g8 yBaui A ewaiisl s ueldell
Guallal w87

) Zn

o) gJrs SUML Na tllq

5) KOH

5} H,S04

UGl YuAA UsLMS FR51R 5RAL 52
Yslej AHUEA A B?

) WloluHUSS AL

o) Banallet uqe AHu2sA

&) gjucll qHu2 5l

5) Uclaricldll (EIAHRMM)

oAl Aottiell 53] gecll 2uckole] GELeWL B?

) s@Adt

o) ARRRAL

5) M8t

s) Qodflat

Adotell MAols@AAact  YBAL
wAA Yo Beulget (Aus) 59 87

g2l

) CH5Cl

) CH,Cl,

%) CHCl;

S) CCl,

AAsassell el 2R HBr ol AUAHYMEL
A cectdcll schoal GRRal wad B
A2 ol Aouaiell s Bl @) ud 82

) sl Eladll [Ran
o) AR-ulaR8lal Ran
5) SlgNotoll Ran
5) 3Rotedt (ATUES)
Page 2 of 22



42

43

44

45

46

Which of the following chemical is
used in Baeyer’s test for unsaturation?

a) Bromine water

b) H2SO4

¢) Os gas

d) Cold alkaline KMnQu solution

Which of the following compounds
are obtained when alkenes undergo
reaction with ozone gas?

a) Ketones and aldehydes
b) Alcohols

c) Acids

d) Esters

Which of the following compounds
are mainly obtained when alkenes
undergo hydroboration—oxidation

reaction?
a) Aldehydes

b) Ketons
c) Esters
d) Alcohols

How many ¢ bond and = bond present
in ethene molecules?

a) One ¢ bond and one = bond
b) Five ¢ bond and one 7 bond
¢) Two & bonds only

d) Four ¢ bond and one & bond

What are the products formed when
alkynes  undergo  hydrogenation
reaction with H gas in the presence of
Lindlar’s catalyst?

a) Alkanes

b) trans-Alkenes
¢) cis-Alkenes
d) Alcohols

¥R

¥3

¥¥

U

¥S

AaReltsAE (Baeyer's test) Hi AR
usivcll W2 oflAouniell s QE
Guallol iy 8?

) l@eto] wcllal slag

o) H,50,

5) 05 cliy

5) 6§ BUEEEALBel KMnO,o] slaldl

s weslodt At cliy W ylsa 52
R o{lAcimigll sl AAxel Anelcudi 2
&?

) §l2lo ol cSlolssH

MR R
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o) Uikl o oY el As 7 ol
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$) UR 0 6iE el As T oYy

AR WEBIER  SBJXel  (Hy) Ay W
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sleglaaet ylFal s? 8 U st Aleell
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) VG

o) glodt-uleslodt

%) Ru-2ucslent

$) BUCAERL
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Which of the following compounds
are obtained when alkynes undergo
reaction with ozone gas?

a) Ketones

b) Carboxylic acids

¢) Alcohols

d) Alkanes

Which of the following is the correct
IUPAC name of CH>~C=CH?

a) Propyne

b) Propene

¢) Propane

d) Ethyne

Why do alkynes exhibit acidic nature?
a) Presence of 7 bonds

b) High bond strength

¢) High electronegativity of sp-
hybridized carbon

d) Resonance

Which of the following products is
formed when ethyne reacts with HC1?
a) DiChloroethene

b) Dichloroethane

¢) Chloroethane

d) Vinyl chloride

Which of the following laws of
thermodynamics states that if system
A is in thermal equilibrium with
system B, and system B is in thermal
equilibrium with system C, then
system A is also in thermal
equilibrium with system C?

a) First law of Thermodynamics

b) Zeroth law of Thermodynamics
¢) Second law of Thermodynamics
d) Third law of Thermodynamics
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An internal energy is a

function.
a) Path function
b) Work function
c) State function
d) Not defined
Which of the following statement is
true for 2°¢ law of thermodynamics?

a) Heat flows spontaneously from hot
to cold

b) Heat flows spontaneously from
cold to hot

¢) Work is equal to heat

d) Internal energy is conserved

Which of the following statement is
true, for change in entropy for an
isolated  system  undergoing a
spontaneous process?

a) AS<0

b) AS=0
¢) AS is constant
d)AS>0

Which of the following equation is
represents the mathematical form of
Kirchhoff’s equation?

a) d(AH)/dT = ACp

b) d(AH)/dP = AV

¢) d(AS)/dT = ACp/T

d) d(AU)/dV = TAS

Which of the following statement is
true for Qualitative analysis?

a) Measurement of concentration

b) Detection of elements or functional
groups
c¢) Measuring physical properties

d) Chromatography only

What is the application of
Crystallization operation?

a) Identification of substance
b) Separation of liquids

c) Purification of solids

d) Measuring density
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Which of the following functional
group can be detected by brown ring
test?

a) Sulphate group
b) Carbonate group
¢) Chloride group
d) Nitrate group

Which type of study can be carried
out by Conductivity Measurement
experiments?

a) Titrations of acids and bases

b) Turbidity
¢) Melting point
d) Crystallization

In UV-Visible spectroscopy,
absorption occurs is because of. ...

a) Rotation of molecules

b) Vibration of molecules

¢) Electronic transitions

d) Ionization

Who was discovered the Neutrons?
a) J.J. Thomson

b) Rutherford

c) Niels Bohr

d) James Chadwick

Which of the following mathematical
form is true for Energy of radiation?
a) E = mc?

b) E=hv

¢) E=hv/A

dE=hNn

Orbitals are differing from orbits.

a) Because it represents Fixed paths
b) Because it represents the nucleus

¢) Because it represents Circular
motion of electron

d) Because it represents Regions of
high probability for finding electrons
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64

65

66

67

68

Which of the following rule or
formula is used to calculate Maximum
number of electrons in a shell?

a) n?
b) 4n?
c) 2n?
d) n®

Which of the following statement
represents the Pauli’s Principle?

a) Two electrons in an atom cannot
have the same set of four quantum
numbers

b) Electrons occupy lowest energy
orbitals first

¢) Orbitals fill singly before pairing

d) Electrons revolve in circular paths

Which of the following is true for the
modern periodic table based on the
arrangement of elements?
a) Increasing atomic mass

b) Increasing atomic number
¢) Decreasing atomic radius
d) Alphabetical order

Which of the following block
elements are also known as transition
elements?

a) s-block elements

b) p-block elements
¢) d-block elements
d) f-block elements

Atomic radius across a period from
left to right is

a) Increases

b) Decreases

c¢) Remains constant

d) First increases then decreases
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69 The value of electron affinity for
noble gases is

’

a) Zero
b) Very high
¢) Negative
d) Infinite
70 Which of the following is the most

electronegative element?

a) Oxygen

b) Nitrogen
¢) Chlorine
d) Fluorine

71 Why Actinides elements
variable oxidation states?

show

a) Participation of 5f, 6d, and 7s
electrons

b) Only 7s electrons

¢) Only 6d electrons

d) Only 5f electrons ‘

72 The color of actinide ions is mainly ‘
because of

a) Electronic Charge transfer

C) s—p transitions
d) Crystal defects

73 When Actinide undergoes contraction,
a result is in? ’

b) £ electronic transitions (

a) Increase in atomic size

|

b) Constant atomic radius

¢) Decrease in atomic and ionic size
across the series
d) Irregular atomic volume
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74

75

76

77

78

79

Which of the following material is
commonly used as moderator in
nuclear reactors?
a) Sodium metal

b) CO:
c¢) Helium
d) Heavy water (D-20)

When the comparisons of an actinides
and lanthanide is carried out, an
actinides shows

a) Fewer oxidation states

b) More variable oxidation states
c¢) No oxidation states

d) Only +3 oxidation state

Which of the following chemicals are
used to prepare Nitrobenzene from
Benzene?

a) Conc. HNO: + Hz2S04

b) NaNO: + HC1
¢) HNO:s alone
d) NHs + O:

What are
compounds?

the of Nitro

uses

a) Solvents only

b) Sweeteners

c) Fuels & explosives
d) Fertilizers

Which of the following statement is
true for nitrogen atom in amines?

a) sp? hybridized with no lone pair
b) Purely ionic

¢) sp? hybridized with lone pair

d) sp?® hybridized with lone pair

What is the conversion of Hoffmann
bromamide reaction?
a) R-NQO: — R-NH:

b) R-CONH: — R-NH,
¢) R-OH — R-NH.
d) Ar-NO; — Ar-NH:
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80

81

82

83

84

What is the use of Hinsberg’s test?
a) Distinguish 1°, 2°, 3° alcohols
b) Distinguish 1°, 2°, 3° alkanes

c) Distinguish 1°, 2°, 3° amines

d) Distinguish cis & Trans alkenes

Which of the following products is
obtained, When an acylation reaction
of amines is carried out with acid
chlorides?

a) Esters

b) Alcohols
c) Aldehydes
d) Amides

At which position aromatic amines
undergo electrophilic aromatic
substitution reaction?

a) On ortho & para positions
b) On meta position

¢) on benzyl carbon

d) None of the given

For the preparation of Diazonjum
salts, which of the following statement
is true?

a) Reaction of primary aromatic
amines with NaNO, + HCl (05 °C)

b) Reaction of secondary amines with
HNO:s

¢) Reduction of nitrobenzene reaction
d) Hoffmann bromamide reaction

In Gattermann reaction replaces
diazonium group
with

a) OH group

b) Cl or Br group using Cu powder +
HCI/HBr

¢) NO: group
d) COOH group
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86

87

88

89

90

The  industrial
diazonium  salts is
manufacturing of
a) Explosives

b) Fertilizers
c¢) Dyes and pigments

importance  of
mainly in

d) Detergents

Who is the father of modern forensic
science?

a) Francis Galton

b) Alphonse Bertillon

¢) Edmond Locard

d) Hans Gross

In which city of the India, the first
police crime laboratory was set up in?
a) Delhi

b) Kolkata

c¢) Hyderabad

d) Agra

Which of the following deals with
identification through skeletal
remains?

a) Forensic Anthropology

b) Forensic Odontology
c¢) Forensic Ballistics
d) Forensic Physics

From where Crime scene investigation
starts?
a) Collection of evidence

b) Court presentation

¢) Arrest of suspect

d) Securing the scene

On which bases the reconstruction of
crime events is carried out?

a) Witness accounts only

b) Police records

¢) Scientific principles applied to
evidence
d) Assumptions
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92

93

94

95

96

Which evidence is considered most
reliable in courts?

a) Eyewitness testimony

b) Scientific forensic evidence

¢) Police statements

d) Suspect confessions

Which of the following is associated
with Cyber forensics?

a) Crimes using digital devices

b) Explosives

¢) Poisons

d) Firearms

Which technique is not used in
forensic  chemistry to analyze
explosives?

a) Gas Chromatography

b) Mass Spectrometry

¢) Thin Layer Chromato graphy

d) Thermo gravimetric analysis
Which of the following is related with
the term “ballistics” in forensics?

a) Blood group analysis

b) Explosives only

¢) Bullet and firearm study

d) DNA fingerprinting

Which among these is a class
characteristic of a weapon?
a) Number of lands and grooves

b) Unique scratch marks
¢) Individual wear and tear
d) Fingerprint on trigger

Principle of analysis of stresses that
results must be

a) Personal opinion

b) Subjective

¢) Based on reproducible scientific
methods

d) Doubtful
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98

99

100

101

The in forensic

science

“Golden Hour”
refers to

a) Time before court trial

b) Early stage of investigation when
evidence is best preserved

¢) Morning time for crime scene visit
d) Duration of autopsy

Principle of Locard is important
because of

a) Witnesses are unreliable

b) Crimes cannot be solved without it
c) Police rely on it

d) Criminals always leave and take
evidence

Importance of forensic toxicology
related to

a) Detects poisoning

b) Identifies drug abuse

c) Assists autopsy findings

d) All of given

Which of the following statement is
true for forensic reports?

a) Reports must be Scientific,
accurate, and unbiased

b) Reports must be Favorable to
prosecution

c¢) Reports must be Favorable to
defense

d) Reports must be Speculative

Who is the father
biochemistry?

a) Antoine Lavoisier

b) Watson and Crick

c) Justus von Liebig

of modern

d) Louis Pasteur
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103

104

105

106

Structural
focuses on

biochemistry  primarily

a) Anatomy of humans
b) 3D arrangement of biomolecules
¢) Ecology of microbes

d) Agricultural yield

In  which field of Agricultural
biochemistry helps?

a) Crop improvement and fertilizer
development

b) Astronomy research
¢) Weather prediction
d) Physics experiments

Which of the following is an
important  of biochemistry  in
medicine?

a) Studying stars

b) Rocket science

¢) Understanding disease mechanisms
d) Building materials

Why PubMed is a popular source?

a) Because it can be usefor Historical
documents

b) Because it can be use for Physics
equations

c) Because it can be use for
Engineering data

d) Because it can be use for
Biochemical research literature

The property of interconversion
between a- and B-forms of glucose in
solution is called

a) Tautomerism
b) Mutarotation
¢) Polymerization
d) Hydrolysis
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108

109

110

111

112

Which of the following functional
group can be reduced by Tollen’s
reagent in Glucose?

a) A keto group

b) A free aldehyde group
¢) A free ketone and aldehyde both
d) No functional group

Which of the following disaccharide
is non-reducing?
a) Maltose

b) Lactose
¢) Sucrose
d) Cellobiose

Which. of the following two
components are present in the starch?

a) Amylose and Amylopectin
b) Cellulose and Hemicellulose
¢) Chitin and Amylose

d) Amylopectin and Chitin

Which of the following test is used to
detect reducing sugars?

a) Biuret test

b) Iodine test

¢) Molisch test

d) Benedict’s test

Which of the following property of
metals to be beaten into thin sheets?

a) Ductility

b) Malleability

c) Tensile strength

d) Hardness

What is the importance of alloying
metals?

a) To increase strength and corrosion
resistance
b) To make metals more brittle

¢) To decrease conductivity always
d) To increase density only
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114

115
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117

118

Which of the following metals are
used in manufacturing of Nichrome?
a) Ni, Al, Fe

b) Ni, Zn, Cu

¢) Ni, Pb, Sn

d) Ni, Cr, Fe

Which of the following brown flaky
substance formed during corrosion of
iron?

a) Fe(OH),

b) FesO4
C) Fe:05-xH.0
d) FeCls

Which of the following material is
commonly used as a corrosion
inhibitor  in cooling  systems?

a) Chromates and phosphates
b) Alcohols

¢) Paraffin wax

d) Sugars

Which of the following type of
cement is commonly wused in
construction?
a) Slag cement

b) Portland cement
¢) Pozzolanic cement
d) High alumina cement

Why Gypsum is added in to the
cement?

a) Because it can increase strength
b) Because it can reduce density

¢) Because it can provide color

d) Because it can control setting time

The temperature in the clinkering
zone of a rotary kiln s

about
a) 800-900 °C

b) 10001200 °C
c) 14001500 °C
d) 1600-1800 °C
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120

121

122

123

124

Which of the following reaction can
causes the setting of cement?

a) Hydration of silicates and
aluminates
b) Dehydration of gypsum

c¢) Evaporation of water

d) Oxidation of calcium

Which of the following is the main
advantage of RCC over PCC?

a) Less cost

b) Higher tensile and compressive
strength
¢) No need of curing

d) Easy to dismantle

Which type of polymers softens on
heating and can be remolded?

a) Thermosetting

b) Cross Linked Elastomers
c) Elastomers

d) Thermoplastic

Which of the following initiator used
in free radical polymerization of
ethylene?

a) H2S04

b) NaOH

¢) Benzoyl peroxide

d) HC1

Which of the following is added
during Vulcanization of rubber?

a) Sulphur

b) Carbon

¢) Oxygen

d) Nitrogen

Which of the following materials are
used in manufacturing of Bakelite?

a) Urea + Formaldehyde

b) Phenol + Formaldehyde

¢) Terephthalic acid + Ethylene glycol
d) Caprolactam
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) UCHR
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126

127
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129
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Which of the following is a non-
biodegradable polymer?

a) Starch

b) Cellulose

¢) Polyethylene

d) Proteins

Which type of error occurs if a
balance is not calibrated?

a) Gross error

b) Personal error

¢) Random error

d) Systematic error

Why Taring in a balance is carried
out?

a) Because of weighing with container
weight

b) Because of setting weight to zero
before sample measurement

¢) Because of adding extra weight

d) Because of recording average value
What is the main purpose of quality
control (QC) in pharmaceuticals?

a) Product design

b) Drug pricing

¢) Regulatory approval

d) Testing and inspection

Which of the following is related to
ISO 9001 standards?

a) Production safety

b) Marketing systems

¢) Quality management systems

d) Cost analysis

Which of the following is true for
Validation ensures?

a) Accuracy and reliability of a
method
b) Cost effectiveness

¢) Faster analysis
d) Better yield

Y

s
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RaL (Taring) ALY UHIAHB S U HIAAD?

U) SotolRall ci%ol WA oyl Sl 5128
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87
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s)w [QeAnyel
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) usell Wsue R RQaudad

o) WL AUABR L
5) 335Ul [QeAnet
s)ay wdl Guer
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132

133

134
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Which of the following is true ‘for
LOD (Limit of Detection) measures?

a) Smallest detectable quantity

b) Highest measurable concentration
c¢) Median concentration

d) Average sample size

Which of the following refers to
Robustness? -

a) Reproducibility across laboratories
b) Accuracy in low concentration

c) Ability to remain unaffected by
small variations in conditions

d) Repeat trials with same analyst
Which of the following is used to
check the purity of the solvent?

a) Hardness

b) pH value

c) Color test

d) Refractive index

What is the main use of Volumetric
flasks?

a) Storing chemicals

b) Measuring accurate fixed volume
c¢) Heating liquids

d) Filtering solutions

Which of the following is preferred

cuvette material, for very low
absorbance measurement?

a) Plastic

b) Glass

c¢) Quartz

d) Aluminum

Which of the following error occurs
due to faulty apparatus?

a) Systematic error

b) Random error

¢) Gross error

d) Personal error

1131
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vl o el gl el 22 ollAsuniell 53
sjdz HRRAA ule scuui wa B?

) wellRes

o) st

5) 5ALE%

s) Ay Aam

wiHlysel Busaiat 5128 {lAstiniell 58 et
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o) ulg@sqa (Random error)

5) Hlg&EL (Gross error)

S) Cu@aald@iet (Personal error)
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138

139

140
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Which of the following is sample
representing the whole population?

a) True sample

b) Representative sample

¢) Random sample

d) Homogeneous sample

Which of the following can minimize
Random error?

a) Using high concentration

b) Ignoring outliers

¢) Reducing cost

d) Repeated trials and averaging
Which of the following equation is
expressed as Molality?

a) moles solute/kg solvent

b) moles solute/L solution

c) grams solute/L solution

d) moles solute/mL solution

Which of the following is used to
remove moisture from glassware
before weighing? They are kept in

a) Refrigerator
b) Oven

¢) Incubator
d)Desiccator

Which of the following calculation
done by The Henderson—Hasselbalch
equation?

a) Tonic strength

b) Buffer Ph

¢) Titration error

d) Indicator range

Which titration involves the use of
starch as indicator?

a) Cerimetry

b) Complexometry

¢) lodometry

d) Mercurimetry
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osaiot-ducione wlsW sl ol ottatiell
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) wLFs2E (Tonic strength)

ol) tlgRajpH (Buffer pH)

%) 2lBg2lole|C (Titration error)
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144
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147

Which type of estimation is carried
out by Karl Fischer titration?

a) Amines

b) Nitrates

c¢) Water content

d) Peroxides

Which elementary estimation is
carried out by Kjeldahl method?

a) Sulfur

b) Nitrogen

c) Phosphorus

d) Oxygen

Who was proposed the Law of Mass
Action?

a) Guldberg and Waage

b) Ostwald and Nernst

¢) Arrhenius

d) Van’t Hoff

Which of the following is true for
Solubility product (Ksp) is definition?

a) Product of molar concentrations of
reactants
b) Product of coefficients

¢) Product of jonic charges

d) Product of molar concentrations of
ions raised to their stoichiometric
powers

Which  process
precipitation?

reduces co-

a) Rapid precipitation

b) Digestion of precipitate

¢) Use of cold solution

d) Addition of excess precipitant

1%¥3

LYY

L¥Y
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L¥9
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148 Which of the following is ensured in | 1x¢ AUl Yl wdcl Ywcetol €M 2ot
gravimetry during drying or ignition AcltsNyl (Gravimetry) Mi ol Astiaisl g
of precipitate?

YERA a 87
a) Removal of impurities and water ) uglgl Al well g2 524
b) Increase in solubility o) GlectHi L
¢) Faster weighing ) 35Ul clogel
d) Complete crystallization s) dyal wR4s2wel

149 Which of the following is a desirable | 1¥e ollRewnisll 520 UdAUA Bwofla et
property of a precipitate for Ry
gravimetric analysis?

a) Colloidal form ) BABSE A3U(Colloidal form)

b) Very soluble in water o) Wl vl o gteat(Very soluble in water)

¢) Easily filterable crystalline form 5) WRadll e s st Ad wRAa
¥AIU(Easily filterable crystalline form)

d) Hygroscopic §) &l8ANEM 5 (Hygroscopic)

150 Which of the following is the main | quo A5 (Gravimetric) [QeAueiell v
limitation of gravimetric analysis? walel ofl Aetiaiiell 565 D7
a) High cost of reagents w) YBAS G0l Bud
b) Cannot be applied in pharmacy o) slllad oy 58 astell otell
¢) Requires special instrumentation ‘ ) WlH U otloll %32
d) Need for very pure reagents and $)uet % Yo ARz UA siryds
careful work sIM scloll %3R

(Space for Rough Work)
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